R 6 Ak

1 X BT A% 1) T
telKE IEfHER
E A

X5 8 z H
BELUADHEER 5,756 A 5,618 A 11,374 A
EEEHN 3,720 A 3,503 A 7,223 A
ZIEBAW 2,036 A 2,115 A 4,151 A
BER 64.63 % 62.35 % 63.50 %
AIEREER 58.89 % 58.23 % 58.56 %
7= 4

X5 8 z H
BEEULUHOAEER 5 A 3 A 8 A
EEEHN 0 A 0 A 0 A
ZIEBAW 5 A 3 A 8 A
BEX 0.00 % 0.00 % 0.00 %
AIER R R 16.67 % 33.33 % 22.22 %
B N+ # 4%

X5 8 z H
BELUADHEER 5,761 A 5,621 A 11,382 A
EEEHN 3,720 A 3,503 A 7,223 A
ZIEBAW 2,041 A 2,118 A 4,159 A
BEX 64.57 % 62.32 % 63.46 %
AIEIREER 58.84 % 58.22 % 58.54 %




